[17

16

15

14

13

12

11

10

[17

16

15

g
3 8
8 $
g
g g
feer b £
F
3
:
B B e
i ” g
| i 2 W
(Y00 S R R SusEai 8 = = 8
= b 1TIE ; 4 £ oEgs i & 3
2 | | S c%n € o <
& A1) 2 3.@ ] > E
S R i g ggvo -4 % c
I SRR AT N ] i el SIS RIS o oF a3 b E g
S s ot 8 z S =
o S § 223 3 1T
28 I i C1(TIT u w3s & 2 5 =
B Al 5 532 2 L
8 Al I , 5§ §%¢ b ] 3 5
g alile ﬁ S 9$5E % 8 I
2 e HHHHHHHHHHHBHHHHBHH BB = HHHHH - & _wnd [ o =] 9 o
[ | | i e 2az® % © 5 2 g s
; ! § 2 28: 3 T £ § a 4
| L 3 c ce% 5 S & % g 2
.......... W e e e e u e Ly - g S g <) E 2z o = z
& gereg: < g
. EE— e pe 4855583 8 9
_. Ml ﬁ ﬁ B £ EERER - 5
| 5 zgzise g

heee | <t @ slge§EE=2 a b

I = El 2F 8 F & ] <

H HH B H H H4 HHHHHHHHR =SS u g cuBaBnm 2 3l

I c dsgsess 2 v |2|Z

, | | =1 of ¥ X 0o a ~|o|la

| E LWk E
L 0 L LR ...mum_m

Notausgang Zeltwand 2,40 m
Keine Tare!

E T ]
F T | E T ]

] o s e
E + | B T |
B === —
E T | |= T ]
s s e
L .
b
[ .

'l

B
=

= P

Notausgang Zeltwand 2,40 m
Keine Tare!
=

T

B Bt BE=
TR [ECRER
SET—) ey
STl fuos |
: ]
EETTT e
b

Notausgang Zeftwend 2,40 m
Keine Tare!
L]

[ T 1

T3 L) ) e | e —— R Se—— ——
E T |

: —— =

==

E s |
[ area]
E T 1

TS ]

Nebenzelt
55.00m x25.00m

=
—
=
=
=

=

1,20

==

120m

e ?!!*jii =

- | |
1% (IR (2
BRI

4.40m
T

= T s E T 1 T
[ = =
 EEEes e =1 =3

Eeasmlaeman] sl Eeemimass $EeE=Slaess 1 BEeemm=m=— 2 BEe====i

Keine Tare!
1.40m

Schankzelt
6,00m x10.00m

Notausgang Zeltwand 2,40 m
]
T
|
]

440m
T
I

P
weeT

CCLC ] [ e s (==

1,20 m

Keine Tore!

1,20m

Notausgang Zefiwend 3,60 m

C T -]

]

L
I=!=il==l=l=!l==i=i=!;l—_——i=!|=—_—i|==||—_—i=l
[ e A [ 1 ] e ) [

—

——

—_—

——

—

——

——

E
I3
g E|
M..m. Slils L L e L
55
88X i L R e L
M o= = M M T T L ETL T T O T ) T T L T Y T -
-
w.._— .—_— .__..;.. LU
] k—; __
mii LU/ L LU L L S DR T gy
T = g .
& M MmMm MEMEmMEmemmBmomomamen
o
B
£ g
K s|H i PR HH R LR UL L L L
gt :
b
E|
3 - g LU/ L L 0 YR VL TR e
8
3 ﬁ
olH - It H b — - FA A HA
u. 3 ﬁ
H LU L SR DR e gy
8]
_— WSre
wosz
E
e g | o
®
i
Se
g2
?
8
3

;

14

13

12

11

10




